Larson 7.0 Section 2.5 #1-15 odd, #21-31 odd

In Exercises 1-16, find dy/dx by implicit differentiation.

Lox*+ y? =136 2. xt—yi=16
34y =09 4.0+ y' =8

S —xvtyi=4 6. xiy + yix = -2
.28 —y=1x 8 Jiy=x-—2y

9 = 3ty + 2y = 12 I 2sinxcosy = 1

1. sinx + 2cos 2y = 1 12. (sin 7v + cos 7v)* = 2
13, sinx = x(1 + tan y) 14. coty =x — v

15, v = sinfxy) 16, x = sec%

In Exercises 21-28, find dy/dx by implicit differentiation and evaluate the deriva-
tive at the indicated point.

Logucition FPoint
2l xv =4 (=4, -1}
2.3t —y'=10 i1, 1)
-4
23, i = 13 (2,00
M, v+ y)f =2+ (=1,1)
25, x¥3 4y = 5 (8, 1)
26. '+ v' = duy + | (2. 1)
27, tanlx + v) = x (0,0)

28, rcosy =1 (" EJ



In Exercises 29-32, find the slope of the tangent line to the graph at the indicated
point.

29, Witch of Agnesi: 3. Cissoid:
(x*+4)y=8 (4 — xpy? =4
Point: (2, 1) Point: (2, 2)
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3. Bifolium: 32. Folium of Descartes;
(x2 + ¥2P = da?y ¥yt =y =0
Point: (1, 1) Point: (5.5)
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